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1) "HAFd Y fhamRid A 3R SRUTE Gedt & URaa-RITe Satl &1 S g | I8 fvaq
BB 87

“Human geography is the study of the changing relationships between the unresting
man and unstable earth.”

a TR BIfETTed  Prof. Hutingatan b. W@W Kumari Sample
c. Sfd¥  Davis d. S §F Jean Bruns

2) FofiRad & T o9 91 U fava ST arer & T8t 82

Which of the following is not a sparsely populated area?

a. S{CTHhHT Atacama b. %W’qm Mediterranean sea

c. Gigm Uﬁflfm south east asia d. ﬂ'd%lm polar region

3) UfdPY 3UhY RS IR Bl

Push and pull factor is responsible.



1.30 Hrs


a. W%ﬁﬂl for migration b. H—ﬁﬁW%ﬁmfor land degradation
C. WW%%‘I for air pollution d. Tidt Rl & T for slum
4) T8 HH RATU g qu 1R |
Which country has the lowest sex ratio?
a. ST Latvia b. HRd India
c. Ulfdb=d™  pakistan d. TG 3RT 3MRTA  United arab emirates

5) T4 fIHTE ST Srauron 5 # § ford fagH 31 & &7
The concept of human development is the contribution of which of the following scholars?

a. TR 3 9 Prof Amartya Sen b, SaeX H8§E 3@ 8% Dr. Mehboob ul Hag
c. TAUT ¥ud L N .C. Sample d.Xe o Rategel

6) O ¥ @I I AU0r S T 82
Which of the following is not a planation agriculture?
a. @B Coffee b. AT sugarcane
C. ﬁ_§' wheat d. XIS rubber

7) 9 & 3 5w & Saam WeRaT R B
Which of the following has the best literacy rate?
a. &gy Lakshdeep b. TSITG Chandigarh
c. G4 dld Damam Diu d. 3€A™ A®IER Andaman Nicobar

8) TF 2011 HI TTTUFI & IR HRd B SF-e e gl
What is the population of india according to the 2011 census?
a.119.01 PAS 119.01 crore b, 121.01HAS 121.01 crore
c. 36 ﬁ%’ 36 crore d. 84 mﬁ:c; 84 crore

9) T8 N ~Hfcl B IO B BI T52

When was the new industrial policy announced?
a. 1990 b. 1991

c. 1992 d. 1993



10) FrAfREd & 9 ®1F 1 7dl & d¢ W 3fard T 8|
Which of the following is not located on the bank of a river?
a. PIAPIAT kolkata b. 3TRT Aagra
c. HaTd Bhopal d.UcHl Patna

11) (6 SN F 9 & § HH F wud 761 St At
Which of the following crops is not shorn in dry farming?
a. XA Ragi b. SdR} jowar
C. TTqv_cﬂ Peanut d. 7TAT surarcane

12) YR # 71 20ft 7 IuHiT 9w o Faiftes Ry A A feg A Bl
Which of the following has the maximum consumptive water in the river basin in india?

a. Ry Indus b. PN Krishna
c. MEa  Godavari d. BT Kaveri

13) BRIPS oH by I R &% 75 5
Hirakund dam is build on which river?
a. T Ganga b. HgMal Mahanadi
c. QMG Damodar d. @ Shankh

14) a9 2011 & IR 50 TRA Y 3V IR aral TR g o J w1 A |2

Which of the following is the city with a population of more than 50 lakh as per the

year 20117
a. 116[ Pune b. Yd Surat
c. el Patna d. 3l Ranchi

15) TR UR[ERUT B aTcl ST S Y 82
Which are the nomadic herding tribes?
a. foeedt Pigmi bAEE Masai
C. QT:FI'&IT Yukagir d. U934 Papuaan



16) fay & walfie saem Hfd 3|
Largest population concentration in the world.
a)ua"?ﬂa & T In mountain area b)ﬁ?l:ﬁff In plain
c) TR H In pleatue d) ASRAH In desert
17) Frofafad & 9 forg 3 Tgaa sRe SfiRTd & feitT orgura &1 g fear 8|
Which of the following has reduced the sex ratio of united arab amirat.
a) T3Y BN SR &1 Taf-d Jard
Selected migration of male working population
b) GBI 1 I T &
Higher birth rates of male
o) feerai & g s &R
Low female birth rate
d) el &1 3= ua
High migration of women

18) FAuferiRad & @ &9 91 S 3= A4 faer aren 82

Which of the following country has high human development?

a) &1 3hIdT  south africa b)HRd India
c)EﬁT-[ China d)-'-l'lﬁc Narve
19) g v= & ¥ forad fowgd a1forsy oA it 78! &1 et 82
In which of the following countries extensive grain cultivation is not done?
a)JTT &3 Prairie region b)dUT &= Pampas region
o XU &= Steppe region d) 3 & Amazon region
20) HRd 1 Ufd a1 fpaiie’ Saa a9 2011 & SER fba 82
What is the population density per square kilometer of india according to the year 20117
a)267 b)325
c) 3301 d) 382
21) 9 T ¥ S 91 SRS Y &1 3HYS T SHIHA HRE &7

Which of the following factors is an pull or favorable factor for migration?

a) IIBTJ:I'Iﬁ Pandemic



b)RTSIiTce SRRURCT poltical unstability
¢) ASHIR & AR Employment opportunities
d) STe Bt SUASIAT Unavailability of water
22) ATa fadT gadies 2016 & Aol & fay & S # URd &1 Fgffed & 9 &F a1 =i or
Which of the following was the rank of india among the countries of the world in term of
human development index 2016.
a)110 b)120
) 131 d)140
23) A & Seerell & TER AT fopd ufaed & gid 87
The deltas of the river are in the pattern of settlement along their?
a) 3R Ufd=U Radical pattern b)HRTEIﬁR?q Star pattern
¢) U Uf=U  Fan pattern d)ffafirg ufaey Irregular pattern

24) TS HN T ford=t aifiies aul MTa=TS &2
How much annual rainfall is required in wetland agriculture?
a) 25 AR Y HH Less than 25 cm b) 25 ¥ 50 YT 25t0 50 cm
c) 75 TdHeR T 31fIF More than 75 cm d) Eﬁ@[mﬁ Non of these
25) Frofafaa Afeat & 3 fow 7 & gaife g: fd @ 1 ofd Iamed 82
Which of the following river has the most replenishable ground water resources?
a) T Ganga  b)TiGlaRl Godavari
¢) islYa Brahmputra dméﬁ kaveri
26) B Pifcl Wea BT TN FauH forg fag A fasar
Which scholar first used the term Green Revolution?
a) TR 3\ B Prof Amartya Sen  b) STTE?WBHW Dr Mehboob ul Haq
c)Siaex faferas TS Dr. William Gaud d)STfde Darwin
27) YR SO Sfaem & foy af o) e fearss ot gar e 82

In the Indian census history ,which year has been termed as the Great Divide?

a) 1911 b)1981
c) 1951 d)1921



28) YRA B RITIART H P11 gl o1l 52
What is shifting agriculture called in india?
a) BT Roka b) gfH Jhoom
Y Re  d)TaM Ladan

29) 3 2 & AL IR HETT 3|

Trade between two countries is called.

2.3{dSIMI AR Inland trade b. dT&l HTUR External trade

. IR local trade d.m@??w International trade
30) I UdH SaRIT B

Kochi port or patan is located.

a. PAIcH H  In Karnataka b. 3MSTTH In Odissa
c.IRAH  InKerla d. ?T&IFFI'I_g'ﬁ In Tamilnadu
31) foy &1 ooRaaH I A S A 82
Which is the buiest sea route in the world?
a.av_qu'l"'f Cape route
b. ITRI URITd HEIWRIG AR North pacific ocean route
c. ST 3fedifed HERNRIA A North Atlantic ocean route
d. Tferuft sreaifes HeTRIG AR south Atlantic ocean route
32) UM TER Siisdl &l
Panama canal connects.
a. URId ANFR Ud f§@ HERINR Pacific ocean and Indian ocean
b. URId HMINR U4 3icdifcd HENIR Pacific ocean an Atlantic ocean
¢. 3{cdifcd AR Ud g HERIFR Atlantic ocean and Indian ocean
d. %EWTQH Wﬂ%’w Indian ocean and Arctic ocean
33) T A3aRa ¥a Art feg S A fRa B
In which country is the Trans -Siberian railway located?
a. ™M China b.HRd India
c. ™Y Russia d. PlST canada



34) Jd Uiy TraRT Shear ]
East-west corridor connect-
a. PIABIAT DI e Kolkata to Delhi
b. RITER P UREER ¥ Silchar to Porbandar
c. %ﬁmﬂaﬁaﬁq@qﬁﬁ Srinagar to kanyakumari
dﬁc—vﬁﬁaas‘ﬁ Delhi to Mumbai
35) 4o & Yo Ugd Yol avd SRETT R0 fova 1 Fifes
The first cotton textile factory was established in mumbai because-
a.ﬁﬂé@qﬁq%l Mumbai is a port.
b. Haéqaﬁﬁ?ﬂaé'a—;%m Mumbai is a financial center.
c. =it U IdTe® & contiguous cotton growing area.
d.B'CIQER'[Hﬂ-ﬂ All of these
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N

Wﬁlﬂ'&’f (General Instruction)

> adremelt FurEsTa 379 ereel A IS |

Examinee write answer in their own words as far as practicable.
> el WAl B EEAT19 8|
The total number of questions is 19

> 9T HEAT 1§ TR HEAT 7 Teh 3Tl o] 3 U §| 59 A fohal aler el & 3o} Ueh arery A
AT 9% v &7 AT 1 37 AuTRT &

Question 1 to Question 7 are very short answer type questions, Answer any five of thesequestions in
one sentence. Each question carries 1 mark.

> U HEAT 8 W TR HEAT 14 ofeh ofg oI T & | 311 & foherel 5 Uil oh 3R 31ferencta 50 ereat
A QAT Tcheh 92T T AT 3 37 AR &

Question 8 to Question 14 are short answer type questions. Answer any five of these questions in at
most 50 words. Each question carries 3 marks.

> U2 TEAT 15 ¥ T2aT TEAT 19 Teh &T8 I 9 & 1 ST A Toheel et 92aAT & 3a) 31 8eha#d 100
rsel F AT | Tedes W &1 5 37 eTRa &

Question 15 to Question 19 are long answer type questions. Answer any Three of these questions in
at most 100 words. Each question carries 5 marks.



1.SIESAT UTed 1 URHINT B |
Define population density.
2 AU P 5 Hod 52
What is plantation agriculture?
3 RITeRIER0T BT 31 T B2
What is the meaning of empowerment?
4 YTTFh ST e I o e g2
What is meant by groundwater resources?
5. T4 4T T g7
What is human geography?
.M U1 T {19 T GHSAd 52
What do you understand by privatization?
7. TS ! U HTaRIH AT ol g7
What is basic need of human?
8. A4 AP & < JAH D! &1 qui B |
Describe the three indexes of human development.

9. TG URad= & diF geh! & —1H ford |

Write name of three major component of population change.

10 % URIg ¥d uRde &t Joa-1 H fohd YR T B |

How is road transport easier than rail transport.
11. YR P D1 [ARAwcT31 &1 quH B

Describe the charcteristics of Indian agriculture.

12 Y (HH0 B HH B & U U |
Explain the ways to reduce land degradation.
13, ITHT01 ST T TP &b YR W Gy Famd |

State the pattern of rural settlement on the basic of shape.

14, AT & TP B IR BT |

Explain the naturalization of humans.
15 Iy & SFRe faavur &) gHIfad - a1 THE $RS| BT guiH B |

Discuss the most important factors influencing the distribution of population in the world.




16. HRd H F1ael o ITG Td faaRur b1 quf 3 |
Describe the production and distribution of rice in india.
17. YR # Ri=18 31 snazashar i g » R & Hidl &1 9uH &<
Why is irrigation needed in india.Describe the sources of irrigation.
18. SARTFIT IR et 1P F o AT o1 ATUd S e § e Y |
International trade is the measure of economic development of a nation.Explain.
19. HRd & A<= H FafafRad o <fsu)
Show the following on the map of india.
a. P kochi b URTEIY Paradeep

c.DIADIdI Kolkata  d.[IRMRATUEAH Vishakhapatnam
e. 4&% Mumbai



